TRHAG P UTA=Id ST 0T B

- fedis: @R
0.8 x30% = 7.85 % 30% =
9.01 x 50% = 3.92 x 10% =
0.94 x 20% = 4.61 x 40% =
0.14 x 80% = 6.21 x 30% =
1.71 x 80% = 7.9 x 50% =
4.62 x 40% = 9.54 x 10% =
2.54 x 60% = 9.8 x90% =
6.57 x 10% = 0.58 x 40% =
5.21 x 10% = 1.09 x 80% =
5.11 x 20% = 5.48 x 90% =
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0.8 x30% = 0.24

9.01 x 50% = 4.505

0.94 x20% = 0.188

0.14 x 80% = 0.112

1.71 x 80% = 1.368

4.62 x 40% = 1.848

2.54 x 60% = 1.524

6.57 x 10% = 0.657

5.21 x10% = 0.521

5.11 x20% = 1.022

feiep:

7.85 x 30% = 2.355

3.92 x 10% = 0.392

4.61 x40% = 1.844

6.21 x 30% = 1.863

7.9 x 50% = 3.95

9.54 x 10% = 0.954

9.8 X 90% = 8.82

0.58 x 40% = 0.232

1.09 x 80% = 0.872

5.48 x 90% = 4.932
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